ARCTIC CAT HDX

Winch Mount
Winch Mount PART # 101340

Hardware Kit: HK-325

Kit Components:

Item# Qty. Description

1 2 FAIRLEAD SPACERS
2 2 3/8-16 X 1 HEX BOLT
3 2 3/8 FLAT WASHER

4 2 3/8-16 CLIP-ON NUT

INSTALLATION INSTRUCTIONS:

Note: Make sure all of the hardware needed to complete this
mount are in the package. Depending on your winch you may
have extra hardware left over when finished installing. Read
through and understand the instructions before installing.

1. Cut out the plastic grill covering the winch mount.
Follow the line shown in Figure 2.

IF YOU HAVE A WIDE WINCH WITH A BOLT
PATTERN OF 6.60 x 3” SKIP TO STEP 5. ON Pg 2.

2. Place your winch up behind the front bumper behind
the grill. Line the winch bolt holes up with the stock
mounting holes. Per Orientation Shown in Figure 1 &
holes in Figure 3.

3. Set the Fairlead Spacers up to the front of the grill.
Line up the mount to holes (A) and make sure that the
clip-on nuts (4) are facing in. Shown in Figures 3 & 4.

4. Tnsert the winch bolts (included with your winch) e A

though the Fairlead Spacers, the winch mount, and
into the winch.

(X3

“Figure 4” igure 3"

©2017 Copyright Kappers Fabricating, Inc. All rights reserved Page 1



5. Place your winch up behind the front bumper behind
the grill. Line the winch bolt holes up with the stock
mounting holes. Per Orientation Shown in Figure 1
& holes in Figure 5.

6. Set the Fairlead Spacers up to the front of the grill.
Line up the mount to the Wide holes (B) and make
sure that the clip-on nuts (4) are facing out. Shown

in Figures 5 & 6.

7. Insert the winch bolts (included with your winch)
though the Fairlead Spacers, the winch mount, and “Figure 5”
into the winch.

ATTACHING THE ROLLER FAIRLEAD

8. Line the fairlead roller up to the clip-on nuts and
bolt together using the 3/8-16 bolts (2). Shown in

Figure 7.

“Figure 7"

WIRING INFORMATION

1. The battery location is under the drivers seat. Shown in
Figure 8.

2. We recommend mounting the contactor on the inside of the
battery tray. You will need to remove the lid covering the
battery.

3. Use the wiring diagram in your winch manual to see how
the winch is wired.

©2017 Copyright Kappers Fabricating, Inc. All rights reserved



